7 —OREER n=30580HH
HEEH
B+ =R LOHEWICERBAR a, b, PFHET S ERET S L,
(a+b)(@-ab+b¥)=c> TIT, c=xy (x,yldBAE) LiEL L,
(@a+b)@*—ab+b?)=x%3 XoT, XO10@EYOEEBEZLND,
(i) a+b=1,a%-ab+b*=x3y D54
(i) a+b=xy,a®—ab+b? =x*y*DHH
(i) a+b=x%?,a%—ab+b*=xy DEGhH
(iv) a+b=x%%,a>—ab+b*=1 DHH
(v) a+b=x,a%—ab+b*= x>y OEH
(vi) a+b=x%a%-ab+b*=xy’05H
(vi) a+b=x%a%>-ab+b*=y’D%H
(vii) a+b = xy?,a® —ab + b* = X>yD &
(ix) a+b=xy%,a®—ab+b*=x*05H
(x) a+b=x%%a%-ab+b*=xD5H
—I5. ZO10@Y LAk wHEZIHL T, Sy 0B, 2Ly,
(3+1)(3+1)=161ff, £oT, (a+ba®—ab+b?)DMIT1 6 M, xly%

ANBEZCHLCICARZ DR DT, T, xlyZ ABZTIEDLRVH D%



Fz2bE, (L,x3y®), (xy,x%y?), (Py%xy), (3y31)0 4BV DA, LoT, X7V 5
bR e, (16-4)+2+4=6+4=108Y (£, 16-(16-4)+2=
16-6=108Y)
(i)a+b=1,a>-ab+b>=x>y*O%H. a, AR LV .a+b 22 Lo T FE,
(ii)a+b=xy,a®—ab+b?=x2y0%8, (a+b)* =x2y2 XV, (a+b)?=a*-ab+
b? .a’+2ab+b? =a?—ab+b?* "3ab=0 .ab=0 abIZEAARELYFE,
(ii)a+b=x*y?,a2—ab+b?>=xy DA b=x*y*—a ThEROKIRATS L,
a? —a(x®y?* —a) + (x*y? —a)  =xy ..a® —x*yia+a® + x*yt - 2x*y*a + a’ = xy
S3a? = 3x%yla + xtyt —xy =0 Lo T, HHIED = 9xtyt — 12(xty* — xy) = —3xtyt +
12xy =3xy(4—x3y3) 20 xy>0& 0. 4-x%320 xy3AAELVx=y=1D%4,
Sa+b=1 ablIBALLYFTE,

(iv) a+b=x%y%,a?—ab+b*=1 DA, (a—-b)*+ab=1 a21,b21&Y, &
DAZM7ZTDida=b=10%, LD, a+b=x3y3L Y . x¥y3 =2 Thiimks
BB, y3HEEL VWO TFIE,

(v) a+b=x,a®—ab+b*=x*>y3D%4, (a+b)? =x% .a® +2ab + b* = x¥*——Q
¥/, a*>—ab+b? =x¥y——0Q2
D-@&0, 3ab=x2-x%y* =x2(1-9>) =x*(1-y) (1 +y +y?)

x2>0,92+y+1>0,3ab>0L9, 1-y>0 ..y<1 ylZHAKIYFE,



(vi) a+b=x%a’—ab+b? =xy*O&. c=xyDx,ykx sy LT —MlEx kb
B, LIZAT, (a+b)P>a+b® T/, a®+b3=c3=x3y3

L) > alyd caxb>adyt x>y s>y LoT FlE

(vi) a+b=x%a>-ab+b> =y DHA, (a+b)*=x°L Y., a®+2ab + b? = xO——
—0 F/. a?-ab+ b=y ——Q
O-@& b, 3ab=x0—y3=(x?)%-y% = (x? —y)(x* + ¥’y + y?)

S3ab = (x* = ){(x* = y)* + 3x%y}

(1) x*—y=3m (m 38K oHH
3ab = 3m{(3m)? + 3x%y} = 3m(9m? + 3x%y) = 9Im(3m? + x%y) ..ab = 3m(3m? + x%y)
LoT, abD)b, PR —SHEIDERTHL, ———%

T ad+b3=c2Ca=3p+1,b=3q+2,c=3r (pqrid¥i) 5L,

ad+b3=0Cp+1)3+Bq+2)3=27p>+27p* +9p + 1+ 27¢> + 54¢*> + 36q + 8
= 27p3 4+ 27q% + 27p® + 54¢* + 9p + 36q + 9
=90@p3+3¢3+3p*+6q° +p+4q+1)

—H.E=0@rP =27 XoT, WL d IDERERLDTHY IOGEAEDH S,
FoT, a,bDH i b —TR3OFBEHE RS v, —— Y%

Yo, Yok V. FhE.

() x2—y=3m+1 (m 3EH) o5HA

3ab = Bm+ D{Bm+ 12 +3x%y} XoT, KB 3ofEHK<T, GHix3cH L 14



LELITHZLIRIBOBELY 3 THIZL 1R2HLRY, T,

(I x*-y=3m+2 (m L) oL
3ab = 3m + 2){(3m + 2)* + 3x%y} Lo T, L3 05T, AilIX3 cEHB L 24
DL ITHZLIRIBOBELY 3 THLL 2R2HERY ., T,

(vi)a+ b =xy?,a> —ab+ b* = x*yOGH. b=xy? —a TNERXORICKRAT S L,
a’? —a(xy? —a) + (xy* —a)®> = x%y ..a®> —xy’a+a® + x*y* = 2xy*a + a® = x%y

".3a% = 3xy?a+ xyt —x%y =0

£ o T, HHIED = 9x?y* — 12(x2y* — x%y) = =3x%y* + 12x%y = 3x%2y(4—y®) 2 0
x2y>0X0, 4-y320 ydAAHIVy=10H,

Satb=x a?—ab+b*=x* .(a+b)?*=x* . .(a+b)?=a®-ab+b?

S3ab=0 ablXERBLY FIE,

(ix) a+b=xy®,a>—ab+b?> =x20%H, b=xy’—a Tz ROXIRAT S L,
a?—alxy®—a)+ (xy> —a)? =x% .a® —xyda+a® +x%y® — 2xy3a + a® = x*

S3a% - 3xyda+ xtyt —x2 =0

Lo T, HHIED = 9x2y8 — 12(x%y® — x%) = —=3x2y® + 12x2 = 3x2(4 -y 2 0
x2>0&0, 4—-y°20 yREAELVy=10%4,

Satb=x a*—ab+b*=x* .(a+b)?*=x* . .(a+b)?=a®-ab+b?

S3ab=0 ablIEAELYFIE,



(x)a+b=x%%,a —ab+ b2 =xDHH . b=x*3—a e RORIRAT S L,
a?—alx®y? —a)+ (@x*y3 —-a)? =x a®—xYyla+at+xty® —2x%ydatat =x

S3a% = 3x%yda+xtyb —x =0

£ o T, HHIED = 9xy® — 12(x*y® — x) = —3x*y® + 12x = 3x(4 — x3y®) 2 0
x>080, 42320 xyRAAELVx=y=10%,

Sa+b=1 ablZHARLYTHE,

(1) ~(x) &b, HHEC LV a® + b3 =SB oA WICE R AR a, b, B FFAE

L, £oT, 7z~ —0RKEHn =3 0583 FREGRNICR I W,



